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4) 2 2t tx e t y e t t−= + = − − ≤ ≤  

 
 
8)  2 3x t y t= =

 
Part b) Since we need a function where domain is ( , )−∞ ∞ , we need to set up x as a function of y. 
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10) 1 cos 2sin 0
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Part a) 1
1

2 cos1 1 1 1 1cos(0) cos( ) 2sin(cos (2 ))
2 2 2 2 2cos (2 )

x
x x y x

x
1
2

x
θ

π
θ

−
−

=− −
= = = = = ≤

=
≤  

 
 
12) 1t tx e y= − = e
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Part a)  
22(ln( 1)) ln( 1) 21 ln( 1) (t xx e x t y e e x+ ++ = ⇒ + = ⇒ = = = +
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14) There is an error in this question, it should be 1 1x t y t= + = −  

Part a) 2 2 21 1 ( 1) 1x t x t y x x= + ⇒ − = ⇒ = − − = −2 2  

 Since the domain of 1 1t y t= + = − , ) is [1 ∞ , the domain for the 2 2y x= −  is [ 2, )∞ . x
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16) 32sin 4 cos 0
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2sin cos 2 2x t y t tπ π= = − ≤ ≤  
This plot starts at point 

18) 
(0,1) .  From 

2π−  to 3
2
π−  moves to the 

 end
The arrow set:  

, the graph

t and ing up at point (1,0) .  

 

 

righ

From 3
2
π−  to π− , the graph moves 

back to point ( ) .  From 0,1 π−  to 

2
π− , the graph tinues to ove 

ing up at  point ( 1,0)

 con left 

end

 m

− .  The 

 

 

arrow set:  

From
2
π−  to 0, the graph changes 

 shape is repeated again 

direction and retraces the previous 
path returning to point (0,1) .  The 
arrow set:  
 
This mound
in [0, 2 ]π . 

0)  

 
 

 

x 

y 

Regular Plot 

Parametric Plot

2

Regular Plot 
Parametric Plot

x 

y 

 


